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THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

3. You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4, This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

6.  All items carry equal marks.

8 Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong answer
has }:i?en given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.
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STS-M-TPT

What is the value of o (o # 0) for which |5.
x% — 5x + o, and x? — 7Tx + 20 have a common
factor ?
(a) 6
(b) 4
(e) 3
d 2
How many numbers from 1 to 1000 are
divisible by 2, 3,4 and 5 ?
(a) 16 &
(b) 17
() 32
(d) None of the above
What are the factors of x3 + 4x% — 11x — 30 ?
(a) (x-2),x+3)and (x+5)
(b) (x+2),(x+8)and (x —5) .
() (x+2),x-3)and (x+5)
d &+2),x-3)and(x-5)
If x = 111...1 (20 digits), y = 333...3
(10 digits) and z = 222 ...2 (10 digits), then &
whatis = _zy - equal to ?
@
(b) 1
() 2
d 3
(2-A)

What is the positive value of m for which the
roots of the equation 12x2 + mx + 5 = 0 are in
the ratio3:2 7

(a) 5410

5410

TR

() —

d —

Let f(x) and g(x) be two polynomials (with real
and 4
respectively. What is the degree of f(x)g(x) ?

coefficients) having degrees 3

(a) 12
(b) 7
() 4
(d 3

If 5x3 + 5x% — 6x + 9 is divided by (x + 3),

then the remainder is

(a) 135
(b) -135
() 63
(d) -63

The product of two non-zero expressions is
(x + y + z) p°. If their HCF is p? then their
LCM is

(a) E+y+2z)
(b) (x+y+2)p?

¢ E+y+z)p°
d G+y+2)p
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1. « (a#0) % 98 WA @ 8, Es fow
x2 = 5x + 0 3 x2 — Tx + 20 F1 TH HE UGS
B B ?
(a) 6
(b) 4
(0 3
(d 2
2. 1% 1000 d% fopat TEamd 2, 3, 4 3R 5 W
[ERISCE
(a) 16
(b) 17
(¢ 32
(d) I9UE § § HIg T8I
3. x3+4x2—11x—30a’»ﬁ°17-|'@‘33?ﬂ%?-
(a) (x—2),(x+3)AN(x+5)
(b)  (x+2),(x+3) 3N (x-5)
© (x+2),x-3)3M(x+5)
d) (x+2),(x—23) 3 (x—5)
4. IR x=111...1 (20 3H),
y =333 ...3 (10 3i%) 31
z =222...2 (10 31%) &, @ x-y’ {ET:ED
T 3 ? ’
(a) ;:
(b) 1
(& 2
(d 3
STS-M-TPT

(3-A)

m 1 I8 YATCHS HH 1 7, foraeh forg wfieo
12x%2 + mx +5=0% qA 3:27% YA H & ?

(a) 5410

510

(b) 12

() —

d) —

AM WY fix) 3 gx) @ w795 (It
TorieRt % ) ¥, e feuft e s aft 4R

fix)g(x) st feft @ B 2
(a) 12

b) 7

() 4

d 3

afe 5x3 + 5x2 — 6x + 9 H (x + 3) W fawoa
foran Sran ?, @ INhd F R 2

(a) 135
(b) -135
(e) 63
(d -63

Gl IR ST T PERA (x +y +2) p° @ |
Iy I7eT HETW GUYEdE (HCF), p? 8, a1 3
AW TS (LCM) &I 8 2

(a) x+y+2)

(b) (x+y+2) p?
() (x+y+2)p°
d E+y+2)p
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9. If the points P and Q represent the real|12.
numbers 0-83 and 0-62 on the number line,
then the distance between P and Q is

21

(a) %
19

b -
(b) 50
|
(C) ‘m

13'

56

d Radil
@) 90

10. Sudhir purchased a chair with three
consecutive discounts of 20%, 12:5% and 5%.
The actual deduction will be
(a) 335%

(b) 30% 14,
() 32%
(d) 35%

11. A fruit seller has a certain number of mangoes
of which 5% are rotten. He sells 75% of the
remainder and he is left with 95 mangoes.
How many mangoes did he have originally ? i5
(a) 500
(b) 450
(¢) 400
(d) 350

STS-M-TPT (4-A)

If a train crosses a km-stone in 12 seconds,
how long will it take to cross 91 km-stones
completely if its speed is 60 km/hr ?

(a) 1hr30min
(b) 1hr 30 min 12 sec
(c) 1 hr 51 min

(d) 1hr1min 3 sec

In a 100 m race, A runs at 6 km/hr. If A gives
B a start of 8 m and still beats him by
9 seconds, what is the speed of B ?

(a) 4'6 km/hr
(b) 48 km/hr
(¢) 52km/hr
(d) 54 km/hr

The quotient of 8x°® — y® when divided by
2xy + 4x2 + y?2 is

(a) 2x+y
(b) =x+2y
() 2x-y
(d) 4x-y

If (x + 2) is a common factor of x2 + ax + b and

x? + bx + a, then the ratio a : b is equal to

(a) 1
(b) 2
() 3
(d) 4

www.examrace.com
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10.

11.

STS-M-TPT

afg fomg P ot Q 5Ew W W et desdi
0-83 31 0.62 ! fF&fa @ &, @ P 3R Q
Sdafighang

(a)

(b)

(c)

(d)

21
90

19
90

21
100

56
90

T SHATTT AT 20%, 12:5% 3R 5% % WY,
gefit ¥ v Fff Tl | Tl w areafass e

1 BIf 2
(a) 335%
(b) 30%
(0 32%

d) 35%

T B fashat & g Tk Fifvad wen § o
2, o & 5% @S g 2 | 98 WY AW+ 75%
99 2T § X 3% U 95 9 = Wd @ |
AN H I\h ITE foha 3 & 2

(a) 500

(b) 450

(¢) 400

(d) 350

12. U Wi fafgd geer o9 w1 km fomam 2, &1

13.

14.

15.

(5-A)

IR i # 9fe Tk o9 12 U oidl B, A T
TH geeR W 5 W 91 km @ B, 9t @@ IR
wE § oF fopam awa oft, afk a7 A ofa

60 km /52T B 2

(a)
(b)

. (o)

(d)

19 30 fime

1 &t 30 fire 12 Tk
1921 51 fime

1% 1 fiFe 3 9ehs

100 m 1 TF ST H A, 6 km /521 T Srear & |
Ife A, Bl 8 m M ¥ ded sl f@ra 2ar 2
3 fh ft B &1 9 Oehs © B0 2aT B, o B hl

T T 8 ?

(a) 46 km/5IET
(b) 48 km/Si2T
(¢ 52 km/&el
(d) 54 km/5eT

8x3 — y3 Wl 2xy + 4x? + y2 & fowfoe @ w
WIS T BT 2

(a) 2x+y
(b) x+2y
(¢) 2x-y
(d) 4x-y

afe (x+2), x2+ax+b 3M x2 +bx+a & TH
e PHES 7, T I a : b FohEsh ST 8 2

(a)
(b)
(¢)
(d)

1
2
3
4
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16. Let : 19. The factors of x(x +2) (x+3) (x +5)—72 are
fix) =a,x" +a, x2=ly aq xn-2 4 . H B R By (a) x,(x+3),(x+4) and (x-6)
where a, a,, a,, ..., a_ are real numbers. (b) (x-1),x+6)and (x2-2x - 12)
If flx) is divided by (ax-—b), then the () (x—1),(x+86)and %2 + 5x + 12)
remainder is
(d (x+1),(x-6)and (x*-5x—12)
b
o
a 20. If the HCF of polynomials
(b) f(_ H} fix) = (x - 1) (x? + 3x + a) and
% gx)=(x+2) (%2 +2x +b) is (x2 + x — 2),
(©) f[ = ] then what are the values of a and b
b respectively ?
@ f(_%J (a) 2,2
(b) 2,-3
(¢ -1,-3
17. Consider the following numbers : (d) =21
1. 2222 21. a, b, ¢, d are non-zero integers such that (ab)
2 11664 divides (cd). If a and c are coprime, then which
3. 343343 one of the following is correct ?
4 220347 (a) aisafactorofec
Which of the above are not perfect squares ? (b) ais afactorofb
(a) 1,2and3 ‘ (¢) aisafactorofd
(b) 1,2and4 (d) disafactorofa
(¢) 2,3and4 .
22, If the roots of the equation
d 1 4
(d) , 3 and alb-c)x?+b(c—a)x+c(a-Dh)=0are
equal, then which one of the following is
18. The product of the polynomials (x + 2), (x — 2), correct ?
(x® - 2x? + 4x — 8) and (x3 + 2x% + 4x + 8) is Bl | Bl i
(a) xP-256 (b) b2=ac
4 12
(b) (x*-16) - 2 . i
) (x*+16) b c
@ &2-9! g
d —=—+=
() b a ¢
STS-M-TPT _ (6-A)
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16.

17.

a +fifse

f(x) = a, x2 4 a, xn-1 ~2

+ A 2T L R XA
%‘, GIBT g, 1, Ag; -1 anwﬁmﬁ@ﬁ% |
Ife fix) B (ax - b) ¥ fofsa fFn wme, @

AYHS T BT 2

Frefafaa gemett w foam fifvw
iy oapy

2. 11664

3. 343343

4. 220347

o # A g ol et 777 2
(a) 1,23R 3

(b) 1,23 4

(c) 2,33M4.

(d) 1,33R 4

19.

20.

21.

22.

X (x +2) (x + 3) (x + 5) — 72 % UGS &
(a) x,(x+3),(x+4)3M(x—6)

(b)
() (x—1),(x+6)3M (x2 + 5x + 12)
(d)

(x — 1), (x + 6) 3T (x2 — 2x — 12)

(x + 1), (x — 6) 3 (x2 - 5x — 12)

afq  9gIE i =(x-1)(x%+3x+a) I
g(x)=(x+2)(x2+2x+b)www_t&$
(HCF), (x2 + x — 2) &, @I a 3 b o A HHAW:
TR ?

(a) 2,2
(b)  2,-3
& —1,~8
d -2,-1

a, b, ¢, d 3 YhR & I Ui & fF (ab),
(cd) 1 faurig star & | afe a o ¢ smEETTS
3, @ Fr=fafed § @ v a8 2 2

(a) a,c o OHES 3
(b) a, b3 UHES B
(¢) a,d 3 UHES &
(d) d,a I UFES §

Ife gt

ab-c)x®+b(c—a)x+c(a—-bh)=0%h qd
SR &, a Fefafeaa 4 @ fa-aradt 2 2

18. WEIGA (x + 2), (x - 2), (x® - 2x% + 4x - 8) 3N (@) 2b=a+c
(x® + 2x% + 4x + 8) T UGS 7 8 ?
(b) b%=ac
(a) x8-256
2
4 2 e S
(b) (x*-16) L e e
A 1607 ‘
() (x*+16) g T,
(d) (x%-4)* b a ¢
STS-M-TPT (7-A)
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23. The non-zero solution of the equation|27.
a—x? b-—x c—X bi—x?
= = = , Wwhere
bx c b cx
b#0,c#0 is
b? + ac
(a) ———=
_bz +c2
b2 —ac
P
© b2% —ac 28.
b2 + ¢2
b2 +ac
(d) b_c?
24. Ifkis an integer, then
224 T 14[1{2 - %J =0 has -
(a) Both integral roots
(b) At least one integral root 29
(¢) No integral root
(d) Both positive integral roots
25. How many numbers between 500 and 1000
are divisible by 13 ?
(a) 36
(b) 37
(c) 38
(d 39
30.
26. To maintain 8 cows for 60 days, a milkman
has to spend ¥ 6,400. To maintain 5 cows for
n days, he has to spend ¥ 4,800. What is the
value of n ?
(a) 46 days
(b) 50 days
(¢c) 58 days
(d) 72 days
STS-M-TPT (8-A)

A student has to secure 40% of marks to pass
an examination. He gets only 45 marks and

fails by 5 marks. The maximum marks are

(a) 120
(b) 125
() 130
(d) 150

What is the value of u in the system of
equations 3 (2u + v) = Tuv, 3 (u+ 3v)=1luv ?

(a) O

(b)

1

4

1
(c) E
1

(d)

Five years ago, Ram was three times as old as
Shyam. Four years from now, Ram will be
only twice as old as Shyam. What is the
present age of Ram ?

(a)
(b)
(c) 36 years
(d)

30 years
32 years

40 years

Ram buys 4 chairs and 9 stools for T 1,340. If
he sells chairs at 10% profit and stools at 20%
profit, he earns a total profit of ¥ 188. How
much money did he have to pay for the

chairs ?

(a) ¥ 200
(b) ¥ 400
(e) ¥ 800
(d) ¥ 1,600
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93, THEHW a—x2 _ b-—x _c—-x _ b—xz, 27.
_ bx c b cx
GagT’b;eo,c;eo%,aFrYEam%FrW%?
b2 +ac
@ e
b2 — ac
e
b2 —ac
= b2 + c2 28.
b2 +ac
D ova
24, AR kT QUi B, @
x2+7x—14(k2 - %] =0 &1/
(a) QI A I &
(b) HH-H-FHH T o YUIh &
(e) ﬁé%ﬂqﬁwﬁmf{‘é’r% 29
(@) Ml qe o quiies &
25. 500 3R 1000 % = fHad =@, 13 @
faursa 8 2
(a) 36
(b)y 37
(c) 38
(d 39
, . 30.
26. TH GUATA H! 8 Ml 1 OO 60 Tl e
% U 7 6,400 @ A 9gd & | 5 A
& WOgEY n f 9w % fow, 3w
F 4800 @A HAUSIE | nHI A FATE ?
(a) 46 fea
(b) 50 fe
() 58 &
@ 72T
STS-M-TPT (B—A

Tk S i Toret giien i 9 = & 9T 404
T YItd A & | IY Had 45 3k Ied B &
AR 98 5 37H W B B A & | ghEn ¥

SAfeRaH 376 T & 2
(a) 120

(b) 125

(e) 130

(d) 150

g e

3(2u + v) = Tuv, 3(u + 3v) = 11uv ﬁ, u<h
A FIT R 2

(a) O
1
(b) 7
1
(c) E
d 1

gig oY Ugd, 9 h MY, TW hH Ay h
forft off | o9 @ = ad =g, T i 3y, v
61 TG i Hare g BN | T T I
w18 ?

(a) 3094

(b) 329§

(¢) 3699

d 4099

T T 1,340 ¥ 4 AT 3R 9 WA @ligar 8
afg a7 FRE F 10% T W R wHA ®
20% T W =l 8, d SH T 188 I FeA AT
AT ® | HRiE % e 8 fhah @ i o
off ?

(a) ¥ 200
(b) ¥ 400
(¢) ¥ 800
(d 1,600
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31. Which one of the following is a correct|35.
statement ?
(a) {x:x+5=5}=¢
(b) {x:x+5=5}={0}
(e) fx:x+b5=5}=
W (%45 =Bleis) il
32. If ab + bc + ca =0, then what is the value of
a2 b? c?
+ + ?
a2—-bc b%-ca c?2 —ab
(a) 3
37.
b)) 0
(e) 1
(d -1
33. In an examination, 35% students failed in
Hindi, 45% students failed in English and 20%
students failed in both the subjects. What is
the percentage of students passing in both the
subjects ? 38.
(a) O
(b) 20
(¢) 30
(d) 40
39.
4. What is = ; VG- 2)3(z =% 5 equal to ?
E-y) +(y-2)°+@-x)
1
(a) o g
1
b bt
(b) 3
(¢) 3
(d)- —8
TS-M-TPT (10-A)

The value of ‘/1 Feafl +',/1 + ..

(a) Equalstol

(b) Lies between 0 and 1
(¢) Lies between 1 and 2
(d) Isgreater than 2

If log,, 6 = 0-7782 and log,, 8 = 0-9031, then
what is the value of log,, 8000 + log,, 600 ?

(a) 4-6813
(b) 5-5813
() 15813
(d) 66813

30 men can complete a job in 40 days.
However, after 24 days some men out of the
assigned 30 left the job. The remaining people
took another 40 days to complete the job. The
number of men who left the job is

(a) 24
(b) 18
(c) . 12
d 6

4 goats or 6 sheep can graze a field in 50 days.
2 goats and 3 sheep will graze it in

(a) 200 days
(b) 150 days
(¢) 100 days
(d) 50days

A tap can fill a tub in 10 hours. After opening
the tap for 5 hours it was found that a small
outlet at the bottom of the tub was open and

+l o
water was leaking through it. It was then

immediately closed. It took 7 hours to fill the
tub after closing the outlet. What time will be
taken by the outlet to empty the full tub of
water ?

(a) 35 hours
(b) 25 hours
(¢) 20 hours
(d) 17 hours
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31. F=fafed # @ -9 uh 98 F9F 8 2 35
(a) f{x:x+5=5/=0¢
(b) Ix:x+5=5)={0)
(¢) izxsd=Dbj=0
@ (x:x+5=5)={) -
32. ?lﬁ ab+bc+ca=0 %,?ﬁ
2 2 2
aza—bc ’ bzb—ca ' cgcmab il S
22
(a) 3 37.
(b) O
() 1
d -1
33. Uh wlam # 35% o &= # Bar g M, 45%
B AU H B B T R 20% D AT fawTi
T % g M | g fow § 9 g9 A 911 | 88,
<1 wfcreradr = 7 ?
(a) O
(b) 20
(0 30
(d) 40
39.
- (x —(;); i)(;y—_ zz)}a(i ;zx—) x)3 TR L
@ -5
(b) %
(0 3 ‘
d -3
STS-M-TPT (44 A

\/1+1/1+‘/ﬁ <l HIH

(a) 1% ST &

b) 03N 1Fd=H R

(¢) 132+ d=wd?

d) 28918

e log,, 6 = 07782 3N log 8 = 0-9031 ¥,
al log, , 8000 + log, - 600 =T HF 1 29

(a) 46813

(b) 5-5813
(c) 15813
(d) 6-6813

30 SAfth Th R hl 40 Ted H U X Fd & |
g 24 f&At & sg 30 =RRAT H T FB 7 3
w1 ! B fom | Sk S T @R 3 39 B
w90 w0 F g 40 o7 ik o |+ Big

A 9T SAfRET sh T TR ?

(a) 24
(b) 18
(¢) 12
(d 6

4 THIET FYST 6 He, Teh @d bl 50 {1 H =1
gehdl 8 | 2 9T 3 3 9 39 ©@d I fohan
feat o = ot 2

(a) 200 T

(b) 150 T

(¢) 100 feA

(d) 50f

T 7 fRel o9 & 10 9 § 9T Gehal & |
@IeH & 5 ¢ ¢ I8 9 T o6 2 Y o<l °
T orel e gen gam o 3R Imd ¥ g
@ @ o1 | 99 39 doh §¢ R e TR
A ¥ 3 & o€ ¥ B W H 769 &N
gt 8 @ W g 2 il e < Aream @ el

0 T fora guy o 2
(a) 85%e
(b) 25 %
(c) 20 %L
(@ 179
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40. A boy went to his school at a speed of|43-
12 km/hr and returned to his house at a speed
of 8 km/hr. If he has taken 50 minutes for the
whole journey, what was the total distance
walked ?
(a) 4km
(b) 8km
(¢) 16km
(d 20km
44,
41. If 78 is divided into 3 parts which are
proportional to 1, %, %, then the middle part
is
28
(a) ?
(b) 13
52
() ?
55
d s
(d) 3
45.
42. There are 350 boys in the first three
standards. The ratio of the number of boys in
first and second standards is 2 : 3, while that
of boys in second and third standards is 4 : 5.
What is the total number of boys in first and
third standards ?
(a) 302
(b) 280
() 242
(d 230
STS-M-TPT (12-A)

The difference between the compound interest
(compounded annually) and simple interest on
a sum of money deposited for 2 years at
5% per annum is ¥ 15. What is the sum of
money deposited ?

(a) ¥ 6,000
(b) T 4,800
(6) ¥ 3,600
(d T 2,400

When prices rise by 12%, if the expenditure is
to be the same, what is the percentage of
consumption to be reduced ?

(a) 16%%
(b) 10%%
(c) 16%%
(d) 10%%

A man rows down a river 18 km in 4 hours
with the stream and returns in 10 hours.
Consider the following statements :

1. The speed of the man against the stream
is 1-8 km/hr. '

2. The speed of the man in still water is
3'715 km/hr.

3. The speed of the stream is 1:35 km/hr. .

. 'Which of the above statements are correct ?

(a) 1and2only
(b) 2 and 3 only
(¢) 1and 3only
(d 1,2and3
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40.

41.

42.

STS-M-TPT

Th ASH 12 km/Ee I T ¥ TR 3
Tl T 3R 8 km/He I AT § N T AT
| afe @ ww & fow 3| 50 fime fow, ot
a8 ol fepafl gl = 2

(a) 4km
(b)

(¢) 16 km

8 km

(d) 20km

afe 78 1 3 fewdl A fowfoa form smw =

P é,%%aqgmaﬁ%,?haﬁaw%w
feram 2 2

(a)
b 138

(c) —

(d)

ugel! @ T H B 350 TS & | Uge! AR
I HET %k WSH I W@ H 2 : 3
I ®, SEfh gl ot fiwd wen # g
<1 AT BT U 4: 57 | ggelt 3R A
HETTST & AShI hl el TEAT Tehel § 2

(a) 302
(b) 280
(¢) 242

(d)y 230

43.

44.

45.

(18 =A%

()

2 991 % fou 5% <Rt afies et ot sMT <6l T UH
gAY W Thdlg A (ATfeh ®9 A FAIA)
ST HTURYT SA1S h1 q T 158 | 5| hl T
st R g 2

(a) ¥ 6,000
(b) ¥ 4,800
(¢) ¥ 3,600
(d) < 2,400

& gt § 12% $I gig 8 9, R Ik @
8 S W@ 8, df @ad § fera wfaerd st
HET et 2

162%

(a) 3

102%
7

(c) 16%%

5

(d) 105%

U =gftp fopell 7S § w6 Y 4 Wi W 18 km

depr @ar g 3 10 wel H Sy oA|r B |

fr=feafaa oAt wt fomm S

1. o ¥ fada =afe # 9 1-8 km IR
H R |

2. B8 §Y UH # Afh I A 3-15 km T
"R |

3. YT <l =T 1-35 km I =eT B |

376 | @ Y HYT TE B 2

(a) had 13N 2

(b) had 2 3 3

(c) hael 1371 3

@ 1,233
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46. If a triangle has sides 5, 13 and 12 units and 6 | 49.
is the acute angle of the triangle, then what is
the value of (sin 6 + cos 0) ?
5
(a) E
7
(b —
) 13
12
c —
(c) 13
17
(d —
13 50.
47. If 0<x< g, then (sin x + cosec x) is
(a) >2
(b) <2
() =22
d =<2
2_p2 51.
48. If sin 6 = m2_112 and 0 <6< E, then
m®+n 2
what is the value of cos 6 ?
2mn
(a) ————
m? +n?2
2mn
b) ————
D P
2 2
Gy At
2mn
2 2
m° —n
d xR W
e 2mn
STS-M-TPT (14-A)

If angle A of triangle ABC is 30° and the
circum-radius of the triangle is 10 c¢m, then
what is the length of side BC ? '

(a) bHem

(b) 10cm

(c) 5+4/3cm
(d 1043 cm

If A= sin 45° — sin 30 ail
cos 45° + cos 60°

_ _sec45° —tan 45 , then which one of the
cosec 45° + cot 45°

following is correct ?

(a) A=B
(b) A>B>0
() A<B
(d B<A<0O

If ® measured in radians is the angle between
the hour hand and the minute hand of a clock
when the time is 4 : 36 pm, then which one of

the following is correct ?

(a) ?<9<
(b) — << —
(c)

(d -—=<8<—
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46. dfe w Brys = gqed 5, 13 3t 12 3 & 3l
o Fygst o1 =R B, @ (sin 0 + cos 6) T WA
TR ?

5
(El) ﬁ
7
(b) T
12
(c) E
17
(d) T8

47. ?T&O<x<~;—%,?h(sinx+cosecx)%
(a) >2
by <2
c) =2

dy =2
48, ?Tﬁsme— =g 3ﬂ'{0<9<—% A cos 6
m +I'l
T HIF FHT R ?
2mn
(a) 1112+I'].2
2mn
b
(b) 5.0
(C) m2+n2
2mn
2 2
m- —1n
(d) T
STS-M-TPT

49. I BrYSt ABC %1 W07 A, 30° § 3R Byw &

50.

51.

(15-A)

aRe i BISET 10 em B, W S BC i o3
R ?

(a) bSecm

(b) 10cm

(e) 5 J§ cm

(d) 10+/3 cm

'é"]'fa & sin 45° — sin 30° aﬂ'{

cos 45° + cos 60°

. sec 45° — tan 45° % ot Freteiae § oo

cosec 45° + cot 45°

SHI-ET TE B ?
(a) A=B
(b) A>B>0
(c) A<B
d B<A<O

gfe o, Foraert A9 eew o 7, et wt & w2
I g3 iR fire 1 g & f9 = F0 E 5
U 4 : 36 AWG 7, A F=fafad 7 | -4
wE g ?

(a)
(b)
(c)

(d)
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52. Consider the following statements : 54.
1. If 45° < 6 <60°, then
sec? O + cosec® 0 = o? for some real
number o > 1.
2. If 0° < 6 < 45°, then LA = x2 for
| — cos O
some real number x > 2.
3. If 0° <0 <45°, then
cos O sin O
i >
1—tan® 1—cotH
‘What is the number of true statements ?
(a) Zero
(b) One
(c) Two
(d) Three
53. Let AB represent a building of height h metre -
with A being its top, B being its bottom. Let|
A’B’ represent a tower of height (h + x) metre
(x > 0) with A" being its top and B’ being its
bottom. Let BB’ = d metre. Let the angle of
elevation of A’ as seen from A be 45°,
Consider the following statements :
StatementI: h+x>d
Statement II : The angle of depression of B as
seen from A’ is less than 45°.
Which one of the following is correct in respect
of the above statements ? 56.
(a) Both Statement I and Statement II are
true and Statement II is the correct
explanation of Statement I
(b) Both Statement I and Statement II are
true but Statement II is not the correct
explanation of Statement I
(c) Statement I is true but Statement II is
false
(d) Statement I is false but Statement II is
true
STS-M-TPT (16-A)

A man, standing at a point X on the bank XY
of a river that cannot be crossed, observes a
tower to be N o® E on the opposite parallel
bank. He then walks 200 m along the bank to
the point Y towards East, and finds the tower
to be N °W. From these observations, the
breadth of the river will be

(Given that tan 0° = 2 and tan B° = 0-5)

(a) 60m
(b) 70m
() 80m
(d 90m

sin 1°

The wvalue of

where 1¢ represents
sin 1°¢

1 radian is

(a) Equaltol

(b) Lessthan1

(¢)  Greater than 1 but less than 2

(d) Greater than 2

The diameters of two given circles are in the
ratio 12 : 5 and the sum of their areas is equal
to the area of a circle of diameter 65 cm. What

are their radii ?

(a) 12cmand 5cm
(b) 24 cm and 10 cm
(¢) 60cm and 25 cm

(d) 30cm and 12-5 cm
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52.

53.

STS-M-TPT

Frefafad saat w fa=m $ifse
1. 9f¢ 45°<0<60° &, al

sec2 0 + cosec? 0 = o2 Torelt areafass gEm

a>l%f\_¢m%|
9. A0 <p<dsod, @t 1E0SO0_ 2 ohr
1-cos®
STEfereh §&I x> 2 fau & |
3. I 0°<0<45°%, al

cos O 2 sin 0
1-tan© 1-cotH

el HYHET I g =T 8 2
(a) I[HA

(b) Ush

©

d) doH

S |

M ifSu AB, h Hier F=E H T ARG B
frefia st 8 'l A 35T IiY R B 3T
ad & | AW i AB, (h+x) Hi
(St x > 0) =8 Y v MR B Pl Ha
2 &l A’ 351 MY AR B’ 39H 97 B | HE
wifore BB’ = d diet 8 | 9 <fifSe A & @
A’ Rl FAIT HIT 45° 7 |
Fr=fafaa wemt w fomm FHifsw .
FI7] : h+x>d
FYTI1: A’ F T@T T B T 370 hivT 45° 8
H 8 |
39 oAl & wed O Fafafea 4 @ s
TR
(a) A I AR HH II g1 d&l &, 3
YA 11, HeF 1 <l TEI ST 8

(b) U I 3N waH II aHl @dl &, 9
AT II, HIH 1 <h T&l =aren T8 8

() Y ITE 8, T e 11 7Td 8
(d) HYF I7Sd &, Teg HeH 119 8

54. Tk A1, @ ur 74d femm S oweRar, ¥ XY

55.

56.

(17-A)

P W, X forg W @er g3 wH =itk ame
T FAFTER R W T HAR B N o E %
HFER 3@ 2 | R 9 safe fe & wy g
fesm 1 R Y fag 0% 200 m I&@r 8, iR
HHR N pe Weht feufa § orar 8 | g9 Sl
o ITIER, A&t hl =SS T BAA 2

(feam a1 2 6 tan o® = 2 3R tan p° = 0-5 8)
(a) 60m
(b) 70m
(¢ 80m
(d 90m

sin 1°

® OAE F R, SEF 16, 1 e &

sin 1°

it war 2

(a) 17 SR

(b) 19 %A

(¢) 1% sifers, fohrg 29 W
(d) 2% M

few o <) gl & =@ 12 : 5% U@ # & o
Ik FABA! I ANTHA, 65 cm AH G Teh
I & ST h SUSK @ | Ikl Brsmd o F 2
(2) 12cm 3R 5cm
(b) 24 cm 3R 10 cm
(¢) 60 cm 3T 25 cm

(d) 30 cm 3R 12:5 em
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57. A hollow cube is formed by joining six|61.
identical squares. A rectangular cello tape of
length 4 em and breadth 0:5 em is used for
joining each pair of edges. What is the total
area of cello tape used ?

(a) 12 square cm
(b) 24 square cm
(¢c) 36 square cm
(d) 48 square cm

58. Two straight lines AB and AC include an
angle. A circle is drawn in this angle which
touches both these lines. One more circle is
drawn which touches both these lines as well
as the previous circle. If the area of the bigger
circle is 9 times the area of the smaller circle,
then what must be the angle A ? B

(a) 45°
(b) 60°
(c) 75°
(d) 90°

59. An isosceles triangle is drawn outside on one
of the sides of a square as base in such a way
that the perimeter of the complete figure is
% times the perimeter of the original square.
What is the ratio of area of the triangle to the
area of the original square ?
fa) Lul
(b) 23 63.
() 1:2
) - 143

60. What is the area of the triangle whose sides
are 51 cm, 37 cm and 20 cm ?

(a) 300 square cm
(b) 305 square cm
(c) 306 square cm
(d) 307 square cm
STS-M-TPT (18—-A)

Segment QR of length r is a tangent at Q to a
circle of radius r with centre at P. What is the
area of the part of the triangle PQR, which is
outside the circular region ?

(a) T;r—;
(c) %—T—;
o Es

In a triangle ABC, AD is perpendicular on BC.
If £ BAC =90°, AB=¢, BC=a, CA=band
AD = p, then which one of the following is

correct ?

(a) p=abc

(b) p?=hec

(e) p= be

(d) p= ﬁ
c

AB and CD are parallel chords of a circle 3 em
apart. If AB = 4 cm, CD = 10 cm, then what is
the radius of the circle ?

(a)  7em
() J19cm

(c) V29 ecm

(d 14em
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57. ©: GAGH T I SlgH Th WG 9 ST 61.
T 8 | FRR % U 3™ # Wied & fore
4 cm TS 3R 0-5 cm TSTE I T ITRATHR
Aol 30 & g3 R o R | v # fow e
Tell 3 HT FA GABS fehaT 8 ?
(a) 129 cm
() 24971 cm
(c) 36 91 cm
d) 48T cem

58. <l BT W@ AB 3 AC T 01 ST § | 39
HIo H Tk g SR AT 8 S 39 QT s
I 9% HE 7 | TH g AR S @R S
3 Ml @Il % ||, s arel 99 ol ot
WY A 2 | ARG § I g B &AEA, B
911 I % STBA HT 9 AT §, AT HIU A H AH
TR ? 62,
(a) 45°
b 60°
(¢) 76°
(d) 90°

59. foet af &t gomedi d ¥ foreft ws @1 IuR

W, 91 % ST Tk gAfgeg ByS 3w s
s wirar @ fop wquf ewmefa @t aftma wrfte
aﬁ%qﬁwm%ﬂm%lﬁw%mw,
yrfires ot o SEha @ U w1 8 2
(a)y 1:1
(h) 2:8
&) 1:2 63.
d 1:3

60. 34 Py =1 &=wa feam 3, fohl yomd
51 c¢m, 37 cm 37T 20 cm% 2
(a) 300 97 cm
(b) 305 cm
(¢) 3069 em
(d 3079 em

STS-M-TPT (19-A)

r 9IS 1 TH W@Es QR, B or 3k
Fafeg P T g9 % fag Q W ot #
By PQR & 39 R &1 Smwa w8, S
JATHR &F & A ?

nr

(a) E

B T
2 8

() ﬁ_m'_z
2 16
2 2
r nr

d F

(d) T 3

% BYs ABC ®, AD, BC W @& ? | Ife
Z BAC = 90°, AB = ¢, BC = a, CA = b 3K
AD=p 8, @ FafafRea A @ -ar adi 8 2

(a) p=abc

() pZ=he

AB 3R CD, T g1 =l duick Sfiard € S 3 em
H g WE |4 AB=4cm,CD=10cm g, @
a1 B wn g 2

(a) T7em

V19 em
V29 em

14 cm

(b)

(c)

(d)
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64.

65.

66.

STS-M-TPT

The diagonals of a cyclic quadrilai:eral ABCD

intersect at P and the area of the triangle APB

is 24 square cm. If AB = 8 cm and CD = 5 cm,
then what is the area of the triangle CPD ?

(a)

24 square cm

(b)

15 square cm
(c) 12'5 square cm

(d)

9-375 square cm

In an equilateral triangle ABC, BD is drawn

perpendicular to AC. What is BD? equal to ?
(a) AD?
(b) 2AD?
() 3AD?
(d) 4AD?

The distance between the centres of two
circles having radii 9 cm and 4 cm is 13 cm.
What is the length of the direct common

tangent of these circles ?

(a) 12cm

(b) 1lcm
(e) 10 cm

(d 95cm

67.

68.

69.

(20-A)

If PL, QM and RN are the altitudes of triangle

PQR whose orthocentre is O, then Q is the

orthocentre of the triangle

(a) OPQ
(b) OQR
(e) = PLR
(d OPR

In triangle ABC, £ C = 90° and CD is the
perpendicular from C to AB.

If (CD)2 = (BC)2 + (CA)™2, then which one of

the following is correct ?

(a) BC.CD=AB.CA

(b) AB.BC=CD.CA
() CAZ4+CB2=2(AD?+CD?
(dd AB.CD=BC.CA

If a point O in the interior of a rectangle
ABCD is joined with each of the vertices A, B,
C and D, then OB? + OD? will be equal to

(a) 2002 + 0AZ2
(b) 0OCZ-0A2
(c) 0C2+0AZ2

(d O0C?+20A2
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64. TH wshig 9g¥s ABCD & fasl P W wfieeg

65.

66.

STS-M-TPT

T & 3 BT APB T &9%d 24T cm 7 |
Ifé AB = 8 cm 3R CD = 5 cm 8, @ IS CPD
T BTG T 8 2

(a) 24T em

(b) 1591 em

(¢) 125 em

(d) 9-3753 em

ww gmarg Y9 ABC #, BD, AC W wEeq
@it wft & | BD? fopmeh SIS B ?

(a) AD?

(b) 2AD?

(¢) 3AD?

(d) 4AD?

90m3ﬂ14cmiﬁﬁw3ﬁmﬁaﬁ%%7sﬁ
% @ H gt 13 cm B | T FEl hl IS
e @1 Y T FT 8 2

(a)

12 cm
(b)

11 cm

(c) 10 ecm

(d) 95cm

(24~A)

68.

69.

67. 9% PL, QM 3T RN, 38 Bysr PQR & e

2 e o9 g 08, @ Q, e B =1 o
FEE?

(a) OPQ

(b) OQR

() PLR

(d) OPR

s ABC #, £ C = 90° 3R CD, C & AB W
W 1Ak cDy? = B2 + (A2 R, @

frafafaa # 4 SHa a8 2
(a) BC.CD=AB.CA
() AB.BC=CD.CA
(¢) CA2+CB2=2(AD? +CD?

(d AB.CD=BC.CA

Ife wH A ABCD % forell 3fa: fog O
¥ fogewt A, B, ¢ 3R D & Sigt 9mm 7, @

0B2 + OD? forHe s BT 2
(a) 20C?+ OA?
(b) OC?-0A?
(¢ OC2+ 0A?

(d) 0OC2+20A2
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70. A cylinder of height 2x is circumscribed by a|73.
sphere of radius 2x such that the circular ends
of the cylinder are two small circles on the
sphere. What is the ratio of the curved surface
area of the cylinder to the surface area of the
sphere ?
(a) +3:4
(b) 3:3
(0 3:2 74.
@ J3:1
71. A cylindrical vessel 60 cm in diameter is
partially filled with water. A sphere 30 ¢m in
diameter is gently dropped into the vessel and
is completely immersed. To what further
height will the water in the cylinder rise ?
(a) 20cm
(b) 15cm
75.
(¢) 10cm
(d 5cm
72. The vertical angle of a right circular cone is %
and the slant height is Y2 r em. What is the
volume of the cone in cubic ecm ?
(a) mrd
(b) 9mrd
3
nr
c —
(e) 3
(d) 8mrd
STS-M-TPT (22-A)

The radii of the frustum of a right circular
cone are in the ratio 2 : 1. What is the ratio of
the volume of the frustum of the cone to that

of the whole cone ?

(@) 1:8
(b) 1:4
() 3:4
d 7:8

From a solid cylinder whose height is 8 cm
and of base radius 6 cm, a conical cavity of
height 8 cm and of base radius 6 cm is formed
by hollowing out. What is the inner surface

area of the cavity ?
(a)
(b)
(c)
(d)

67 square cm
8m square cm
10w square cm

60m square cm

A tent has been constructed which is in the
form of a right circular cylinder surmounted
by a right circular cone whose axis coincides
with the axis of the cylinder. If the radius of
the base of the cylinder is 50 m, the height of
the cylinder is 10 m and the total height of the
tent is 15 m, then what is the capacity of the

tent in cubic metres ?

(a) 37500m

87500n

(b) 3

265007
3

(c)

(d) 250007
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70. 2x SATS 1T Ush Ao, 2x FSIT 9 Uh Tﬁa“ 73.
¥ 3@ yehr uftrd B FF dom % g B, T
WS Y IA 8 | A & I T8I &ABA
el % JeiT &Ahe B ST F1 R 2
(a) J3:4
b)) J3:3
(c) V3:2
@ 3:1

- 74.

71. 60 cm SIE Il Uh SR Sd- 313 &9
§ I & 9T AT R | 30 em A a1t Th e
%1 R § 5 § e srar @ iR ag W e 9
39 W7 B | SRR &3 | q foha $W 38
ST ?

(a) 20cm
(b) 15cm
(c) 10 cm
(d 5em
75.

72. U SRS ¥ FOAE o SR S gl
ﬁ%ﬁﬁ'gﬁﬂg-Jircnl% |¥E§i£raﬂaaq'aq cm
# fraar 8 2
(a) mrd
(b) 9nrd

TEI'3

(c) —é_

(d) 3nrd
STS-M-TPT (23—A).

T A-gAE FH ok [OFh (EeH) h Hd
2:1% U U 8 | U & fEas & M
T, T I o AFAT h A1 AT FoheT1 8 2

(@) 1:8
‘(b) 1:4
() 3:4
d) 7:8

6 cm SATUR 97 3 8 em S48 a1 Tsh 3
%ﬂq'@} 6 cm 3MYR B 3R 8cn1@%aé ED
U I W fehrer fomn Smar 8 1 39 9K
I # ffifa nfgemr o1 oA g SFwa
foraT 2 2

(a) 6m & em
(b) 8na em
(¢) 10n & cm
(d 60n T em

w9 1 i fFen e 3 S ce-aeig aed
% SN TS FE-GU™ AP o AR o1 8, Jal
W T 38T, ST h AW h G 8 | IfE dam
% YR h B3 50 m, §@F T FEE 10 m
3t a9 A T S 15 m 7, 1 a9 hl &
(aFreH) o et o fpadt 8 2

(a) 375007

87500m
3

(b)

26500n

(c) 3

(d) 250007
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76. Two rectangular sheets of sizes 2n x 4n and|79.
m X bm are available. A hollow right circular
cylinder can be formed by joining a pair of
parallel sides of any sheet. What is the
maximum possible volume of the -circular
cylinder that can be formed this way ?

(a) 4n2
(b) 8n?
(¢ 12572
d) 625n

77. In a triangle ABC, the medians AD and BE
intersect at G. A line DF is drawn parallel to
BE such that F is on AC. If AC = 9 e¢m, then
what is CF equal to ? 80.
(a) 2:25c¢m
(b) 3cm
() 45cm
(d) 6cm

78. In a triangle PQR, X is a point on PR and Y is 81
a point on QR such that PR =10cm,

RX = 4 cm, YR = 2 em, QR = 5 cm. Which one
of the following is correct ?
(a) XY is parallel to PQ
(b) PQ=2XY
(e PX=QY
(d) PQ=3XY
STS-M-TPT (24—A)

Comnsider the following statements in respect

of three straight lines A, B and C on a plane':

i If A and C are parallel and B and C are
parallel; then A and B are parallel.

2. If A is perpendicular to C and B is
perpendicular to C; then A and B are
parallel.

3. If the acute angle between A and C is
equal to the acute angle between B and
C; then A and B are parallel.

Which of the above statements are correct ?

(a) 1,2and3

(b). 1and 2 only
(c) 1and 3 only
(d) 2and 3 only

The diagonals of a rhombus are of length
20 cm and 48 cm. What is the length of a side

of the rhombus ?

(a) 13 cm
(b) 26 cm
() 36cm
(d 39cm

An arc of a circle subtends an angle n at the
centre. If the length of the arc is 22 cm, then

what is the radius of the circle ?

(Take 1t = 272)

(a) bHcm
(b)  7ecm
() 9cm
(d 1lem
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76. 2n x 4n 3 1 x 5 ATHR F T AAAHR IR
Iyerey & | forelt oft o <t TR yemedt &%
S H TRt Uk @igal de-aeii seH s
ST Wl & | 6 FhR SIE S Fehel ATt It
S o1 HTUhaH GYa T T 8 ?

(a) 4n?
(b) 8n?
() 12572
(d) 625n

77. T Fge ABC #, miféed AD 3R BE, G W
yfaeoe wdt 8 | BE & HHIG Uk 1@T DF 39
yehr Gl T 2 6 fog B,y AC ® 1 Al
AC=9cm@g, dl CF forEeh stet ® 7
| 80.
(a) 2-25cm
(b) 38cm
(¢) . 45cm
(dd 6cm

78. TH BYS PQR #, PR W wh fog X 3 QR
W T fog Y38 YHR & B PR = 10 cm, |81
RX=4cm,YR=2cm,QR=5cm%I
frefafea § @ S gd 2 2
(a) XY, PQ% HHC 3
(b) PQ=2XY
(¢ PX=QY
@ PQ=3XY

STS-M-TPT (25-A)

79. Uh HHAA W o9 e W3l A, B 3 C &

Tey A, fFrafafga suat w famm i

1. 3¢ AR C o0 & 991 B 3R C H§HER
8 AR BUURR & |

2. W A, CW T RSB, CW T EA A
3 B EHTR B |

3. 3R A3 C% " H =i, B3R C
&+ Eﬁjés =IAhIV o S 7; A A 3R B
I g |

SUth # B - wed FE g 2

(a) 1,233

(b) haE 137K 2

(c) <hael 13T 3

(d) hae 2 3N 3

Ueh FHEgHS % Ta@UIl hl TS 20 em 3R
48 cm B | GHEGYS Y TH S 6 AR =
g7

(a)
(b)
(¢) 36cm
(d 39cm

13 cm

26 cm

T g h Y Feg W HI n FaRkd T R
gfg =19 61 9918 22 em 7, d1 g9 H B =@

27 (n=22 fifor)

7

(a) 5cm

(b) 7cm

() 9cm
11 cm

(d)
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82. One-fifth of the area of a triangle ABC is cut | 85.
off by a line DE drawn parallel to BC such
that D is on AB and E is on AC. If
BC = 10 em, then what is DE equal to ?

(a) Bem

(b) 2+v5cm
() 3+5cm
(d 4+5cm

83. There are 8 lines in a plane, no two of which
are parallel. What is the maximum number of
points at which they can intersect ?

(a) 15
(b) 21
(e) 28
(d) None of the above

84. A closed polygon has six sides and one of its
angles is 30° greater than each of the other
five equal angles. What is the value of one of
the equal angles ?

" g 86.
(a) B5°
(b) 115°
(c) 150°
(d 175°
STS-M-TPT (26-A)

Consider the following statements : -

1. The of the
perpendicular bisectors of the sides of a

point of intersection

triangle may lie outside the triangle.

2. The intersection of the
perpendiculars drawn from the vertices

point of

to the opposite sides of a triangle may lie
on two sides.

Which of the above statements is/are correct ?
(a)
(b) 2 only

() Both1and?2
(d) Neither 1 nor 2

1 only

For the next five (05) items that follow :

In a University there are 1200 students
studying four different subjects, Mathematics,
Statistics, Physics and Chemistry. 20% of the
total number of students
Mathematics, one-fourth of the total number
of students are studying Physics, 320 students

are studying

are studying Statistics and remaining
students are studying Chemistry. Three-fifth
of the total number of students studying
Chemistry are girls. 150 boys are
60%
Physics are boys. 250 girls are

Statistics.

studying
studying
studying

Mathematics. of students

What is the total number of boys studying

Statistics and Physics ?

(a) 180
(b) 240
() 250
(d) 310

www.examrace.com



82. Uk BT ABC % &%el &l dr=di faedn,
@1 DE g’ T T 8, 5@l DE, BC % HAIGL
39 ThR Giel 78 3 5 D, ABW 3K E, ACW
2 | 9f¢ BC =10 cm &, & DE e stsw 8 2
(@ 5em
®) 2+5cem
© 8+5cm
(d) 4+/5cm

83. UH GHad H 8@ 7, o & #Ig +ft §1 e
¥ wuick 74 § | fagett oy srfeeman wen
11 & o= w3 gfo=de =t gt € 2
(a) 15
(by 21
() 28
(d) ITEE F F HIS TE

84, TH §g wgUY Wl B: YU § 3N IGH Th
VT, I YT SO BV F 30° 927 8 | 9O
I 7§ forefl @k 10T 1 AW R R 2
(a) 55°
(b)  115°
) 150°
@ 175°

STS-M-TPT

85. Tmferfaa sumi ot femm Hifso .

86.

(27-A)

1. foreft Brger st qomedi & o9 fgwreEnl
icresg fomg FBiyw & @t 8 wear 2 |

2. Torelt s ©, 3ok vl @ wg@ yereii
W e Y sl w1 ufiesg faeg 3w
Iy 61 @ gemsT W B Tehar ? |

ITE | § HH-A/H HUT FE B/E ?

(a) HaA 1

(b) =Had 2

(¢) 13K 2 gmi

(d JTa 1782

ST 317 AT TieT (05) TSI @ 170 :

s favafaeme™ § 1200 faeneff &, st = fim
ot — i, aifesd, sifoes fomm ok wmeE
fasm =1 sremm = w2 | foafiEt i gw
GEAT hT 20% O I eI W@ B,
faarfsht Y $a T # ww-AAE fae
fosm =1 s1emEm W @ 8, 320 fomneff wifeeh
T HAERE W R 8 3R Ay Rreneff wre fasm
H A B W@ 8 | WEA RFEE w1 s
+ arer fenf¥E f o den & b s utE
qFT ASfRat & | 150 TSk TIUIG h1 3TET=H T
® 2| ifoe Rem @ serE w9
foenfelat <1 60% 391 @sd B | 250 wiefRar
il w1 7599 @ B |

giferhl 3 Wifdes [/FE &1 e w6 9«
TSI I Hed TEAT 71 B 2

(a) 180
(b) 240
() 250
(d 310
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87. The number of girls studying Statistics is|gy,
what percent (approximate) of the total
number of students studying Chemistry ?

(a) 588
(b) 735
() 787
(d) 806

88. In which subjects is the difference between the

number of boys and girls equal ?

(a) Mathematics and Chemistry

(b)  Statistics and Chemistry a5
(c) Mathematics and Physics

(d) Mathematics and Statistics

89. What is the difference between the number of
boys studying Mathematics and the number of
girls studying Physics ?

(a) 20
(b) 30
() - 60
(d) 80
93.
90. What is the ratio of the total number of boys to
the total number of girls ?
(a) 67:83
(b} 17226
(¢} 27:19
(d) 189:179
STS-M-TPT (28-A)

Frequency density of a class is computed by

the ratio

(a) Class frequency to the class width

(b) Class frequency to total frequency

(¢) Class frequency to total number of

classes

(d) Cumulative frequency up to that class to

total frequency

A small company pays each of its 5 category
‘C’ workers ¥ 20,000, each of its 3 category ‘B’
workers ¥ 25,000 and a category ‘A’ worker
¥ 65,000. The number of workers earning less

than the mean salary is

(a) 8
b) 5
() 4
(d 3

A man travelled 12 km at a speed of 4 km/hr
and further 10 km at a speed of 5 km/hr. What

was his average speed ?

(a) 44 km/hr
(b) 45 km/hr
(¢) 50km/hr
(d) 2-5 km/hr
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87.

88.

89.

STS-M-TPT

GIEehl T 7T I FTeit TSRl hi HeeT,
WA fam &1 1A W A $a T
T AT 1 T feha glasra § 2

(a)
(b)
(el 987
(d)

588
735

806

o fowari & TTehi ofR Wefhal Y 4 & =
T A K 8 ?

(a) TG 3R R fosm

(b) wifeThr N W fomm

(¢) T iR wifees fomm

(@ Tt o7 Tifegh

TG ST AT L aTe ASeh! hl &I HK
ifde fomm &1 sterm w0 9 asie) &
G&HT & ol 1 AT =41 R ?

(a) 20
(b) 30
() 60
(d) 80

TIEH! h! HoT GEAT T AS[hA! h FoI HeaT ¥
ST 1R ?

(a)
(b)
() 27:18
(d)

67 : 83
17 : 26

189:179

91.

92.

93.

(29-A)

forelt @t &1 IReRaT W e U g
giesferd fomam imar 2 2

(a) =1 ST %1t sl =S | I

(b) o STRERAT 1 Hhel TRIRAT & 31T
(c) o ST 1 T T Hol T & I

(@ 39 T d% okl =l SRS H1 g
ARERAT € TTITT

TH B HH A ¢’ T & TeAF 5 HEEE
%I T 20,000, ‘B’ T F TAH 3 HHAAMET B
¥ 25,000, M ‘A’ 9 & TH wHIH HI
T 65,000 T YA HA & | ATET a7 § HH

FUM I FHATRET 6t TE fhe § 2
(a) 8
(b) 5
() 4
d 3

Th AGH 4 km/5I2T hl A € 12 km 1 JET
wal 8 3R R 5 kny/Fer Y =1 ¥ 10 km i

AT BT 2 | ST ShEd = w4y off 2
(a) 44 km/SIaT
(b) 45 km/EI2T
(¢) 50 km/=el

(d) 25 km/Eel
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94. The pie diagrams on the monthly expenditure | 97,
of two families A and B are drawn with radii

of two circles taken in the ratio 16:9 to

compare their expenditures.

Which one of the following is the appropriate

data used for the above mentioned pie

diagrams ?

(a) ¥ 16,000 and ¥ 9,000

(b) ¥ 8,000 and T 4,500

(¢) ¥ 25,600 and ¥ 8,100 98.

(d) < 4,000 and T 3,000

95. Consider the following statements :

Statement I : The value of a random
variable having the highest
frequency is mode.

Statement II :  Mode is unique.

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement I and Statement II are 99.
true and Statement II is the correct
explanation of Statement I

(b) Both Statement I and Statement II are
true but Statement II is not the correct
explanation of Statement I

(¢) Statement I is true but Statement II is
false

(d) Statement I is false but Statement II is
i 100.

96. Which one of the following is not correct ?

The proportion of various items in a pie

diagram is proportional to the

(a) Areas of slices

(b) Angles of slices

(¢) Lengths of the curved arcs of the slices

(d) Perimeters of the slices

STS-M-TPT (30-A)

The geometric mean of x and y is 6 and the

geometric mean of x, y and z is also 6. Then

the value of z is ¥
(a) 12

®) 6

() 6

@ 6

The total number of live births in a specific
locality during different months of a specific
year was obtained from the office of the Birth
Registrar. This set of data may be called

(a) Primary data -
(b) Secondary data
(¢) Recorded data

(d) Countable data

The heights (in cm) of 5 students are 150, 165,
161, 144 and 155. What are the values of

mean and median (in cm) respectively ?

(a) 165 and 161
(b) 155 and 155
(¢) 160 and 155
(d) 155 and 161

The average height of 22 students of a class is
140 cm and the average height of 28 students
of another class is 152 cm. What is the
average height of students of both the
classes ?

(a) 144:32cm
(b) 14552 cm
(¢) 14672 cm
(d) 147-92 cm
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94.

95.

96.

STS-M-TPT

@

a1 9REwi, A 3 B % #ifde @ % guang g
T R 3Tk @l ! g B B AT 3 T
1 SISt 1 U 16 : 9 TET T |

ST aftid geR@El % fore wgw fh o wd
e, fFrafafaa & & s € 2

(a) ¥ 16,000 3T T 9,000
(b) ¥ 8,000 3T T 4,500
() ¥ 25,600 3R T 8,100

T 4,000 37T T 3,000

Fretafea HeA W e Hifsw

FYT 1 : fUhan IRERAT I AgfedH =X 1
A Sgeh (HTS) hEadl § |

FYT 11 : Igh (A1) SMfgdi (37-1) 8T 8 |

I9YH HHl o vy # Frefefag § | s

TE B ?

(a) W I MW HeF II A1 @& T, R
WY II, %Y 1 T TE TR 8

%97 [ 3N ®HA I QA §@d &, T
HYF I, B [ T el TR 781 8

() U IHE B, g U 11Tl &
(d) HeH I7TAd 7, T H 1T 8

(b)

frfafea & & e w6t 787 & 2

T gunE # faftm gl &1 ogum fRmes
HATIATT BT & 2

(a) 373N & STl

(b) AT & HIT &
(c) TSN o Ik 9T oh! TERAT %
(@) 39 o IREET %

97.

98.

99.

x 3R y T TUNTR HIET 6 8 a9 x, y 3 z &I
TR H1e oft 6 % | A 2 T A 1 BT 2

- (a) 12
) V6
() 6
@ Y6

T USiEeh o ey §, Uh fafite af &
faftm wd 1 & W e fafsre o d Shfaa
S (FEET) B ' g h T | 39
(3TTehgl) o T TH=IT <l FT1 el ST EGhal & ?
(a) TR (&F) 3uT™

(b) TIOT 39T

) ffafaa sum

(@) T 3UTH

5 Tt 6t J=meat (em ®) 150, 165, 161,
144 3R 155 8 | & "y 3R wifedeRr
(FifsT) & F (em §) AN w1 E 2

(a) 165 3 161
(b) 155 3 155
(¢) 160 3T 155

(d 155 3R 161

100. U HefT & 22 foenfefat hr sftad 3= 140 em

(31-A)

2 3 UF 37 e & 28 faEmiEl o siwa
918 152 cm 8 | Gl weanall & feenfiat i
A ST TR 2

(a) 14432 cm

(b) 145:52 cm

(¢) 146:72 cm

(d) 147-92 em
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SPACE FOR ROUGH WORK
= T o foTu SHTE
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SPACE FOR ROUGH WORK
el hIH & o0 ST
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SPACE FOR ROUGH WORK
H HH & fore g
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SPACE FOR ROUGH WORK
&= T & foru -
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T T ATIHT Tg THEI0T GieaesT @ieid &1 7 FHgT 1Y ad 7% 7T &l

&, &, €. : STS-M-TPT Tfteror gfereRT AT

TteTuT gierent
IR T

a7 : 3 que _ guries : 100

AW
Tlen TN B9 % g A1, T 39 udteror gl it ugaret sEvd o 6 e W feen s,
T AT LT ZNT Y3 Serat eAier, i 7 g | afe [ R, 39 Wl wdieron giedeht @ wqet ot |
mer@ﬁaomm-mﬁ,aﬁmwnm,ﬂﬁwaﬁ?uﬂwgﬁw?(xﬁﬂﬁ
WE) A, B, C a1 D =i, &= & va famn fonedt < an foemifar & W ok FE @ e
Ieftear @ & | et oft s <Y =/ fommrfa < fedrfer o sav-weres Foreea o fea oo |
39 Tt gieren WHg AT Y s H SAT0Eh] AT
AT foreeT 8 | e giren R s o T o |
39 vl giwe § 100 SRATw (99) fow e ® | vy R st ot Sl A W 8 | v
TR § 9N Yoo (IR) R mu ¥ | T @ T Yoy W g o, R ot Iw-ues W SifRd s
=TEd ¥ | R o) v o 6w & wifre oo w9l €, Y 36 YoIR i Sifehd i S A1kl HewH
oW | TF TN % U Faer va FF T g R |
TR 3T Tt T e & Ry g IeRwE W g stk w1 § | Swwe | fow e fdw A |
T S % 3% TUHE € |
T8 T T 31q vhier gitrest & ffie geaie & Tegek ST-uEs W Afhd FE1 Y€ H, IUH 790
YHO-9S %G1 A e % ITAR FS e SmwEw A A |
mmﬁﬁ@@w-mﬁmﬁ%quﬁm%wmmm-mmwﬁ
O $ | AT IO A1y T IR @ W el At 7 |
= W % T ek qlieror gitaeht & ofd H §9H 3 |
TeTd I o 70 qUS :
TS ayA-uEt # sefiear grn R T e I % forg gue T @ |
() % I % R wR S I § | Ieficar g Tes WA % foe Ry e w e SR % R s
¥g Trga fh U 3t o1 uw-faed gue & w9 # Her S |
(i) 9 1 Iefigar Tk & 31k ITR AT ¥, A T T I AW @, F@iy Ry 1w s § @ uh Ssw
Tl g 7, TR oft 38w & fore Iwdwger € & ate 1 que foan s |
(i) R} s=fiean g 1S ye va A€ foRn wmen R, atufq IFiER gRT ST el fn S g, @ 36 WA %
fore =ré que 7= fean smam |

T A HITIH! Tg T GIahT @er? &1 7 FgT AC 77 a% T @il

Note : English version of the instructions is printed on the front cover of this Booklet.
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